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A watch whichzg_am_sWs was et right at 7 a.m.|In the
afternoon of the same day, e Watch indicated quarter past 4 ' am >
b,

,I:V\ 6o » u " Gx20 = [ooCec -
@2% min. past 4 U w)
' q = 900%C
9[(‘_ ? L\,% 1 ( 00X ‘t/

IRk 0 Gec = L2
L (S e ?

e |40 Mrgo'f”"f. % é& M . I% wa

A A doy fox Ly s = HHOTT
- \’\(."6“1 L v li*“[qm"’ - _

How much does a watch lose per day, if its haHds coincide ever
minutes? _— '——‘ 2., \l - B\" m-—) @‘\—%)&W
- . Ty
3255 min. ’T&l— R;‘ M W
36% min. O&, * W &M/‘L/

M = C@O'\' '51"1')94”'

Lg+ = \ 2 Cg+1'>

® 90 min. WLV\'U&") _ i
n
@ZGmin. eny 6’5%‘“’”" 3 (i = Lo +\
5 _ .
}L"@%fw ok = 65 % 6 ‘ SR S wi

I N - Tz 2
| 5( e wW" - ,i v < . |ﬁYP w: Qx‘\w - ﬁ—% )J"’ f
. 9o - 2% 7 I 2w v 60‘\'5“- .
= 2 "n . -¢ ww

- .
: : {1
A train can travel 50% faster than a car. Both start from point A at the same /
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A train can travel 50% faster than a car. Both start from point A at the same ‘
time and reach point B 75 kms away from A at the same time. On the way, —"’Y |
however, the train lost about|12.5 minutes while stopping bt the stations. o— ')
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A man complete a journey i@He travels first half of the journey at
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. In covering a distance of 30 km, Abhay take re than Sameer. If a:go lemn-
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Abhay doubles his speed, then he would tak& our less than Sameer. - ¢ §
Abhay's speed is: QQA Cameeyx = -
\gy/ S s the. °t

kmph & l ‘ _ A
® 6 kmph ),(S,Pu‘“‘)_ M&,_U: Ih. K> @*Z) %
© 6.25 kmph Joms l"k = }&

@ 7.5 kmph Mc :(;h—|>,kvs- t

\
|

Lxr=2%72 A —T-f;: B
= 4 s 6 =G |l



In a flight of 600 kr)"l, an aircrafm due to bad weather. Its
average speed for the trip was reduced by 200 km/hr and the time of flight
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increased by 30 minutes. The duration of the flight is:
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